SPEED CANARDS
SE-C-...

SPEED:

ENGINEERING)

THIS MANUAL IS WRITTEN WITH THE UTMOST CARE. HOWEVER, SHOULD
THERE BE ANY ERRORS, WE ARE NOT LIABLE FOR INCORRECT AND
UNSAFE INSTALLATION OR THE RESULTING DAMAGE!

BEFORE YOU START, PLEASE CHECK THE
COMPLETENESS OF YOUR KIT
AND MAKE SURE YOU HAVE THE RIGHT
TOOLS!



SCOPE OF DELIVERY:

RIVETING TOOL IS REQUIRED

IX SET OF CANARDS
IX SET OF M4 SCREWS
IX SET OF M4 RIVET NUTS



PLACE THE CANARDS ON YOUR FRONT BUMPER.
FIND THE BEST FITTING SPOT AND FIX THE CANARD.

®)

ENGINEERING)



MARK THE HOLES OF THE CANARD.
MAKE SURE THE CANARDS IS STILL IN THE RIGHT POSITION.

®)

ENGINEERING)




MAKE SURE TO MARK EVERY HOLE.
BE CAREFULL WITH THE POSITIONING OF THE CANARD.

il
LT TLNA

R

®)

ENGINEERING)



DRILL 8MM HOLES ON THE MARKED SPOTS

60O

a2



ASSEMBLE THE RIVET NUTS WITH
THE RIVETING TOOL WITH CARE!
YOUR BUMPER IS MADE OF SOFT MATERIAL.

®)

ENGINEERING)



ASSEMBLE THE CANARDS WITH THE M4 SCREWS.

®)

ENGINEERING)



ASSEMBLE THE CANARDS WITH THE M4 SCREWS.

®)

ENGINEERING)



DONE!
WE HOPE YOU ENJOY YOUR
SPEED ENGINEERING
PRODUCT.

SPEED:

ENGINEERING()



